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QZ} Far f(z) = 3z* —e* — L. Fetimate the roof of f(z) in [1,2]

the first two iterations. -
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Q3) Tet glz) = P 1 9. Show that g(z) has a fixed point in the interval
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QK};) For the above function g(z), i Fop = g(P,), show why this iteration converges for any

e [2, 3]
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Q5) Let fz) = 342 — % - 1. Estimate the oot of f(x) using Newten's method with FPp = 1.5, Find .
at least three iterations.
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QG) Use the iterations you found in the previous questlon to ﬁnd the order of convergence both
theoretically and numerically.
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€199 Using 4--digit and reunding anlve the foilowing systen using Gevssian elimination
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Qiu) A small business has weekly cost og co(z) = a* - z* — 2° — 63 + 1500] where « is the number of
hundreds of units produced each wee pprosimate (with error less than 107%} the level of
production that yields the m minimum cost. Hint: minimum cost means ¢'(z) = 0
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